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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2022
Subject Name: Basic Statistics
Subject Code: 4AH05BAS1 Branch: B.A. (Economics)

Semester: 5 Date: 25/04/2022 Time: 11:00 To 02:00 Marks: 70

Instructions:

(1) Use of Programmable calculator and any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions:
True/False:3(Median) = 2(Mean) + Mode

ALY/VUG:3 (HERARY )= 2(HERS) + GIEAUS

Which are the Qualitative data and Quantitative data:
Cost of items, Hair Color, Age, Gender

ol At USo)RUH S HUE (AR VUL HSHIB A 565D ?
crgllo{l BHd, clnatl 9L, GHR (A
Find geometric mean of 4 and 16.

4ua 16 ol AR Heaus .
Find a median of the given information: 25, 32, 18, 27, 35, 35, 28

AUAA HEAloll Heare AL 25, 32, 18, 27, 35, 35, 28
Write methods of collecting primary data.

ylaPsrle lasAcs el dlesaua.

True / False: Throw a balanced die with six numbers. There are six possible outcomes.

WY/ WG : oloRUAAUGAASIBES . oAQduRRWs.
Certain eventis denoted by

AlssU Uil GLRIRAUCLAUHRAAD .
Define: Sample space,Complementary Event

cquALAWL: 1) [Aedluasiar) ysuestl
If two balanced coins are tossed, then find the probability of getting exactly one tail.
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%l A A@Ad Rsst Fsaunl w1, Al URAR As sielAanccloll Aetcstt 0.

Attempt any four questions from Q-2 to Q-8

Q-2

a)

b)

b)

Attempt all questions.

From a deck of 52 cards, a card is randomly selected. Find the probability that the selected card
1)is a club or a queen.

2) neithera club nor a queen

52Utllell @i llRASs U ALERD I AURE SRAUHIMAD U E SRS U]

1) scce{l3llelx

2)sccllot Slat wal ARAULL ot sl Ao{lict ot

Find the probability of A’ n B'if P(4A) = 2P(B) = 4P(A n B) = 0.6for two events A and B of the
sample space of a random experiment.

AsALeRDsYALALA e Llraslale{lR UARNARNAB HI2P(A) = 2P(B) = 4P(AN B) =
0.68l2AA’ N B'o{laieiclsital .

The events A and B of a random experiment as follows:

A={1,2,3,4}, B={-1,0,1} If the sample space U = AU B then find the sets showing the following
events. 1) B" 2)A'nB 3)A-B.

RosH YALell dotill A el Bo{lA Yool 8:

A={1,2,3,4}, B={-1,0,1} % ot¥slloll %2l U=AUB &l ll o{lAo{l vzl e2lacl Ae WA .1) B’
2)A'nB 3)A-B.

Attempt all questions
For three mutually exclusive and exhaustive events A, B and C in the sample space of a random

experiment 2P(A)=3P(B)=4P(C). Find P(AUB) and P(BUC).

As ALERDs YL (Al vastatell URRUR oflairs wal (AN UssiAl A, B e C HIR
2P(A)=3P(B)=4P(C)é&la, Al P(AUB)xal P(BUC) 2t
If (4) = % , P(B/A) = % and P(A/B) = % for two events A and B in the sample space of a

random experiment then find P(AUB) and P(B).
R P(A) = % P(B/A) = %m«'ﬂ P(A/B) = % A 2ol A ol B HIS 2w5H YAdLell ool
wRUHL 8l Al P(AUB) waP(B) 20l

Two balanced coins are tossed simultaneously. Write the sample space of its random experiment.

A A@Ad Rsst As A sl WA B. Aol e@Ds YAololl oiolloll 2ol AW
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b)

Attempt all questions
During Last 5 years production in a factory as per following. Draw bar diagram of it.

Year 2011 2012 2013 2014 2015
Production (In Lakh Rs.) 120 150 130 140 160
SlESA s sLRULAHIULU N E ARAUAUAAG UL E oL ( Aw3MuH)
o(lAYFuID Al A A oURAMALS(AHIR%Y53A.
ay 2011 2012 2013 2014 2015
Geuleot (w3l 120 150 130 140 160

If the following information is found about the age of individuals living in two different areas,
represent it by the appropriate diagram.

Age Less than 15 1510 35 3510 60 More than 60 Total
(In year) (Child) (Young) (Adult) (Qld)

AreaA 480 360 240 120 1200

AreaB 350 250 200 200 1000

S185 A WA WA QiR Rl cUsARAAl GHR AR (A Yol WA HA &
202wl gl %Y 5.

,dl Al

GUR 15 ol aedl | 15 &l 35 35l 60 60l ay
. cl
(Cﬂiltl) (cllns) (yclat) (dAzs) (9%) s
QR A 480 360 240 120 1200
Q12 B 350 250 200 200 1000
The number of errors in 30 televisions set is given as follows. Make a distribution table from the
given data.
2 3 0 4 5 3 0 1
3 0 2 5 1 2 3 0
1 2 2 0 3 4 0 4
302(ARQRBAA Al AW cloll Ay oto{lui{lalelva AR . AU laug R A dRy d R 5.
2 3 0 4 5 3 0 1
3 0 2 5 1 2 3 0
1 2 2 0 3 4 0 4

Attempt all questions
Write a short note on method of Questionaire.

yallacloll ugld uR gsetllu cull.
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b)

b)

Find the class length and mid value of class 51-60.

adl 51-60 ol cdl Golles ol HEl He L.
The data of selling (in Rs.) product in super mall during four weeks are given as follows.Prepare (07)

frequency distribution table in 8 different class distribution with the mean value of each class.

228
220
120
185

AsYURHIAH s s cll(S2ule R AUAAA URLALRAISSL (

125
200
127
145

100
230
95
140

90
130
85
150

UHUE Al A6 colHA R cAs dAlg @A dRBLe{lR Ust HeAFHAUA SR,

228
220
120
185

125
200
127
145

Attempt all questions

100
230
95
140

90
130
85
150

115 125
128 135
100 180
200 265

sostR3MauHl)
115 125
128 135
100 180
200 265

(02)

230
80
160
210

(LAY UB.

230
80
160
210

Find Q1, D7, P40 for information on the runs scored by a batsman in his 20 innings. (07)
32,28,47,63, 71,9, 60, 10, 96, 14, 31, 148, 53, 67, 29, 10, 62, 40, 80, 54
As Ay Aell 20 8llotHi 2812 s3cl 6t ealadl Hedl HRQy, D7, P2l
32,28,47,63,71,9, 60, 10, 96, 14, 31, 148, 53, 67, 29, 10, 62, 40, 80, 54
The production by the workers of a factory is given in the table below. Find mode of the given (07)
data.
. 150- | 160- | 170- | 180-
Production 160 | 170 180 190 190-200 | 200-210 | 210-220 | 220-230
No. of workers 4 5 19 33 48 22 12 6
A5552 3ol 513101 BAULE oto{l Aot 12 S HIRAAAD. BULEolollodgets KA.
150- | 160- 170- 180-
Geuleat 160 | 170 180 190 190-200 | 200-210 | 210-220 | 220-230
st3oRAe{lrivaul 4 5 19 33 48 22 12 6
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Q-7

b)

Q-8

Attempt all questions

The levels of air pollution measured in a city on different days are as follows. Find the
median of the pollution level.

Level of pollution

250-270

270-290

290-310

310-320

320-330

330-340

Number of days

17

25

32

35

28

13

WSASHIYELEL(E ARAHVEG S AlAYE MRLJRARNAYHIAD. YEMBlotircARolH L1eU2N L.

YEMRBloRAR

250-270

270-290

290-310

310-320

320-330

330-340

(2 axlo{laival

17

25

32

35

28

13

(14)
(07)

The number of children per family in an area is shown in the table below. Find the mean (04)
number of children per family.

Number of children

0

1

2

3

4

5

Number of family

5

9

23

5

5

3

As ([ArctRMl 52u€ls wlnslell dvall oAt slesHi e2ldd B. s301€ls cllnslell

AuAloll HERLS 0.

ollnsle(l vl

0

1

2

3

4

seolloll Auaul

5

9

23

5

5

One student get following marks in their different subject then find mean of it.
53, 75, 82, 68, 48, 63, 72, 55
As (Aeuellal Aotl el el [QAnaML o{lAoll 2JaL HA & Wal Ul Aol Heaus K.

53,75,82,68,48,63,72,55

Attempt all questions.

(03)

(14)

The following is the version of the marks obtained in the 50 marks test by twenty children (07)
selected in a spelling test of English words taken at the district level. Find the average
(mean) deviation of children's marks from this information.
Marks 0-9 10-19 20-29 30-39 40-49
Number of children 1 3 8 6 2
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a) [Reetl selA Aaldl 86A wctlell As HAsell sAEHL ueoll WA A sl SR 50
oalell sANEHL RnAet 9JQle] gl olA Yoyt . ul R uRel cllasletl oBle] AR
(Quetst A

b)

el

0-9

10-19

20-29

30-39

40-49

olnsle{l dull

1

3

8

6

2

The following is a list of monthly expenses of two families living in the same city. Draw
simple divided bar diagram.

A5ASHUIREAIASE AR SHAAHUB AN AYHEAD AU E Qe Arcderus(AgiLe 2l

Q
ALS®

@)

HRsWA | WRLs sUSL [Qlewat ATl s | WA | sc
$SOIA 8100 2700 2880 1800 1620 | 900 | 18000
5208 7000 2000 2000 3000 4000 | 2000 | 20000
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